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Choose the correct option               (1 X 15= 15) 
 

1. If ∫
𝒅𝒙

𝒙𝟐+𝒂𝟐
= 𝒌 𝐜𝐨𝐭−𝟏 𝒙

𝒂
+ 𝒄 , then the value of k is –  

(A) 𝒂 
(B) −𝒂 

(C) 
𝟏

𝒂
 

(D) −
𝟏

𝒂
 

 

2. If ∫
𝒅𝒙

𝒂𝟐−𝒙𝟐
=

𝟏

𝟐𝒂
𝐥𝐨𝐠|𝒇(𝒙)| + 𝒄, 𝒕𝒉𝒆𝒏 𝒇(𝒙)𝒊𝒔  -  

(A) 
𝒂−𝒙

𝒂+𝒙
 

(B) 
𝒙−𝒂

𝒂+𝒙
 

(C) 
𝒂+𝒙

𝒂−𝒙
+ 𝒄 

(D) 
𝒂+𝒙

𝒙−𝒂
+ 𝒄 

 

3. If ∫
𝒅𝒙

√𝒂𝟐−𝒙𝟐
= 𝒌 𝐜𝐨𝐬−𝟏 𝒙

𝒂
+ 𝒄, then the value of 𝒌  is –  

(A) 1 
(B) -1 

(C) 
𝟏

𝒂
 

(D) −
𝟏

𝒂
 

 

 

Ans. D 

Ans. C 

 

 

Ans. B 

 



 

 

4. The integral of the form ∫
𝒅𝒙

(𝒑𝒙+𝒒)√𝒂𝒙𝟐+𝒃𝒙+𝒄
 𝒄𝒂𝒏 𝒃𝒆 𝒐𝒃𝒕𝒂𝒊𝒏𝒆𝒅 𝒃𝒚 𝒕𝒉𝒆 substitution- 

(A) 𝒑𝒙 + 𝒒 =
𝟏

𝒛
 

(B) 𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄 = 𝒛𝟐 
(C) 𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄 = 𝒛 

(D) 𝒑𝒙 + 𝒒 =
𝟏

𝒛𝟐
 

 

5. If ∫
𝒅𝒙

𝒙𝟐−𝒂𝟐
= 𝒌 𝐥𝐨𝐠 |

𝒙−𝒂

𝒙+𝒂
| + 𝒄, then the value of k is –  

(A) 
𝟏

𝒂
 

(B) 
𝟏

𝟐𝒂
 

(C) 𝟐𝒂 
(D) None of these. 

 

6. The value of ∫
𝒅𝒙

𝟗𝒙𝟐+𝟒
= ? 

(A) 
𝟏

𝟐
𝐭𝐚𝐧−𝟏 𝟑𝒙

𝟐
+ 𝒄 

(B) 
𝟏

𝟔
𝐭𝐚𝐧−𝟏 𝟑𝒙

𝟐
+ 𝒄 

(C) 
𝟏

𝟔
𝐭𝐚𝐧−𝟏 𝟐𝒙

𝟑
+ 𝒄 

(D) 
𝟐

𝟐𝟕
𝐭𝐚𝐧−𝟏 𝟑𝒙

𝟐
+ 𝒄 

     

 

 

 

 

Ans. A 

 

Ans. B 

 

Ans. B 

 

Ans. A 

 



 

  

 

 

 

 

 

Ans. B 

 

Ans. B 

 

Ans. C 

 

Ans. A 

 



 

 

 

 

 

 

 
          Prepared by :- 

SUKUMAR MANDAL (SkM). 

Ans. A 

 

13. 

Ans. C 

 

Ans. C 

 

15. 

Ans. B 

 


